16.07.2020

Atertu

N\ —— —

Installation Manual

Wood & Steel Guardrails

Model T-MASH18 4MS2
Containment Level TL2

TERTU - 1 route de Tertu
61160 VILLEDIEU-LES-BAILLEUL
FRANCE
Tél: +33 23336 11 02 - www.tertu.com







Brief description:

WOOD & STEEL GUARDRAIL
MODEL « T-MASH18 4MS2 »

The system does include:

- C100 steel posts with 2 m spacing: C100 special for TM18
- pressure treated wooden spacers @ 18 cm: SPACERS TM18 (2 elements)

- 4m-long steel backed timber rails with logs @ 18 cm; wood & steel components are assembled

together on production site with bolts TRCC 16x160
- a main fishplate connecting 2 rails: TL62TM18MASH

- an intermediate fishplate TL38TM18MASH

- a steel curved fishplate connecting 2 rails for terminal ends: TL62 TM18 EXTREMITE

- pre-installed TRCC 16x40 bolts securing the fishplate TL62TM18MASH assembly with 2 rails

- upstream & downstream tensioners with bearing plate and threaded rod.

BILL OF MATERIALS FOR 4 M

Item Tertu code Description Quantity Weight
Post C100x50x25x5
Steel post C100150TM18 with 3 holes 2 12.70Kg
Length = 1500 Steel S235JR
Spacer @180 drilled with notch, 2
Wooden spacer ECARTC100075TM18 elements, in 0.73 m 2 8Kg
Includes: 1 pressure treated log @ 180,
length 3980 with 4 holes + 1 steel U
channel 90x45x4 steel S355JR length
Rail TM18PRM4M 3920 with 4 TRCC 16x40 bolts. The 1 70K
complete rail is assembled on 9
production site with 4 TRCC 16x160
bolts
Structural steel 80x10, length 620
Connecting fishplate TL62TM18MASH S355JR 1 3.88Kg
1 welded steel fuse box
c ing fishplate f Structural curved steel 80x10,
onneciing IShpiate Ior 1 1 62TM18EXTREMITE length 618 S355JR 1 410K
terminal 1 welded teel fuse box ' 9
Structural steel 80 x 10
I ntermediatefishplate TL38TM18MASH length 380mm S335JR 1 2.60 Kg
1 welded steel fuse box
Fishplate for terminal Structural curved steel 80x10,
is pba € gr e(;mlna TL41TM18 length 410 with 3 standard holes + one 2.7Kg
uried en oblong hole S355JR
Class 5.8 4 pre-mounted | 0.28Kg
Bolt TRCC $Sggigégg Class 6.8 4 pre-mounted 0.10Kg
Round hn%actil(, square TRCC12090GALVAET g:gzz gg i 0.18Kg
TRCC12040GALVA ' 0.10Kg
ECROUM16 Class 5.5 for TRCC 16x160 4 pre-mounted | 0.28 Kg
ECROUM1632- Class 6.8 for TRCC 16x40 0.35Kg
Nut ECROUM12 Class 8.8 for TRCC 12x100 0.10Kg

Weight per Im = 30.58 Kg including steel posts f

or TM18 1.50m length C100150TM18




Installation method
Recommended tools

The T-MASH18 4MS2 can be installed with the same technics and tools
as required for steel crash barriers in particular:

Post driving machine adapted to suit C100 profile post, a torque wrench,
a socket wrench / nut spanner (M16 nut), compressor and lorry mounted
lifting arm.

1 - Post installation (drawing 1)

Posts C100150TM18 in 1.5 m shall be driven into the ground every 2
meters as shown according to direction of traffic; service height above
ground = 700 mm

- Spacer & fishplates installation (drawing 2& 3 )

Place the front part of the spacer « SPACER TM18 » directly onto its
corresponding C100 post,

then arrange the connecting fishplate TL62TM18MASH and intermediate
fishplate TL38TM18MASH on the following support having previously
inserted screw TRCC12-90 head inside the fuse box and finally bolt the
complete set onto the C100 posts.

2 - Rail TM18 4MS2 installation (drawing 4 et 5)

Place the 4m-rails with the threaded bolts 16x40 facing the fishplate
TL62TM18MASH, introduce the said bolts inside the TL62TM18MASH
corresponding openings, then tighten the complete set with the four nuts
M16x32. To assemble the beam to the intermediate post, put the bolts
TRCC 16-160 in front of the lights of the fishplate TL38TM18MASH and
tighten with the nuts and washers M16.

3 - Spacer back cover installation (drawing 6)

Spacer back cover shall be placed on C100 post with a bolt TRCC 12x40
introduced inside post with oblong hole whose nut shall remain outside
cover.

4 - Adjustment (drawing 7)
After components installation, the height of the rails can be adjusted
whilst using the C100 posts openings.



@ @ TL62 TM18 MAS

Flat side

TRCC 12-90

Traffic flow Spacer front side

«—

TL38 MASH



Installation drawing main post
T-MASH18 4MS2

L

2 3|jina4 W T SUoISUSWIg

ey el £ ©N I9V.LNOW 3d NV 1d|
7 e hed | 79 ded 2pieA
“auWN|op, -assep|
2 M |
- _Ujuswmog 3y _11..|.|.|L
WEMod Ne30d  -yopeuBisag HEMW|
315 : 1ed auissag 0Z0TE0NT - aje(] > alanep

ZUA N073
ey

ZEX9LW Snoa33 — - -
e e T~ LNUumg Wg] 6 0}
DS.N UD1d HSYW Z911 3ss3— \\\\\.s\ o T TN LDy 3o
06XZUW 241 uonog — Ty ZEX9W NOI3

7, UD}g 2juow3ad Ju3ws33




Installation drawing intermediary post

T-MASH18 4MS2

E—— vE o £ ON 39VINOW 3d NV1d]
T rem men|  [T5] TedopieA
‘awnjop, “assepy
- U juswnog Blpyag|
SUEPSUUBILI NESIOd suoneuBisaq oy
315 :sedauissag 0e0ereiite. - g1eq - asanep

ZUW Nod33

06XZIW 1741 uofnog

B
"
™

- — T 7 noJd
SN L
T S ™S £\ UD]4 JM30I3-3LI0]
TS TS~ TS (WU L uojnog
T T TSLNUD gS) 68 0]
T TN DY JnapnTg
Siaan——SE T ZEXO| Noud3

T 05N UDYd HSYW 9ETL 355033
7N UDld Bjuowzid Juawz3




Elevation drawing T-MASH18 4MS2

Elévation T-MASH18 4MS2

80000

Extrémité enterrée

72000

o — T T

2000 2000

| I | N N i

2000 2000

—

I T P S |

2000

i
4000

I
4000

TRAFIC FLOW

<
<

IMPLANTATION

Exiremité enterree

Coupe T-MASH18 4MS2

Matiére - Date : 2gp2/2020 Dessiné par: siE
Réf: Designation: | oriation T-MASHIE 4MS2
| @ _ |Echelle: Document n® :
Masse: Volume:
\Validé par : B Rév.1: 15M07/2020 Rév. 2:
Rév. 3: Rév. 4
Dimensions : mm Feuille : 11




RAIL SERVICE HEIGHT :

The top-line of the rail face should be 70 cm (+0,-5 cm) above the average elevation
of the road shoulder in a 50 cm wide band in front of the said rail. At no time, should
the center-line of the rail face be less than 55 cm above the average elevation of the
road shoulder in front of the rail section in question. For the rails, the tightening
torque is 140 Nm.

MINIMAL LENGTH for Full Guardrail System Strength D  evelopment

The minimum recommended length required is 80 Im, with 2x4 M end terminals
included, in order to assure a proper correct anchorage of the system. For shorter
lengths, it is recommended to contact our Export Department for a prior study.

End terminals treatment (drawing below )

The terminals can be dropped on a 4m-length with the ends buried into the ground.
The guardrail can also be terminated horizontally inside the back slope. For each
terminal, a curved fishplate TL62TM18 is necessary for dropping the 4m-rail and a

fishplate TL41TM18 is requested for securing the buried C100 TM18 1.50m post.

TLE2TM18EXT Plan 5¢ I.‘I

Boulon TRCC 12x40

Ecrou M12

i N
"\ Cache-écarteur
%
\

\
‘\ \ Ecarteur pour poteau courant Plan 3
%

o |
Boulon TRCC M12x100 (Classe 8.8)|

A C100 en 1m50 pour poteau courant

Plan 1

L3

N

R Matiére - Date : q10212020 Dessiné par - gLE

\ C100 en 1m50 pour poteau courant

‘\‘\ s Réf: Designation: Crieiia aolenee
Ay | Echelie: | Document
N, Ecrou M16

\ Masse: Volume:
. C100en 1m50 pour poteau courant

Bian \alidé par - Rév.1: 16i07/2020 Rév.2:
Rév.3: Rév.4:

IPLAN DE MONTAGE No 1 Dimensions_+ mm Feuille 7




Parts description T-MASH18 4MS2

&l - 9lin=4 W suoIsuBLWIg
‘¥ Age SEhgy
T D) oasd S ETER
[wWnop, asse
n}ia)
= . : ) [
DU uswnoog 3l2PY23 _llu.llL
| 8hEd SINIERUSWON-ZSINF SLHSYFL ;
:uoneulisag 48
¥ 35901 PO P FSumaol By
315 1ed auissaq 0Z0ZIO0Z0 - 5ye(y - alanep

¢SINY 8LHSVYIN-L 3131SSI|D

HNILYVIIIHIVO

HNILHVI3
E WEeInod neajod
% = inod
o, L p . INayed3-ayoe)) 12 Inayed]

} ueld

| =
. Wweinod neajod Jnod

£ 05wl u=200L 2

qy ueld

Wi ua ulpuoy

= e = = HSYIN 81 Jnod

ey Ueld r\l\\ﬁ‘.l-lu\ullh

MRLE HSYW 81N 1 Jnod
= S2UIEd SNoJ} OTBE

e us pX0BXSY N 494

uejd np oN

=T EIE| uoneubissg

10



Parts description T-MASH18 4MS2

\\4

2z - 3lin=4 W ¢ SUOISUSWI
-] CE ARy
TasY S1oAgy HEEEER
awnjoy ‘3ssBy
n}iog}
T U luswinaog 3Byd3

7 obed alMEPUBION- 26N SIHSWI-L
:uoneubisaq

315 1ed suissaq

0Z02/90120 - g1

CSINY 8LHSVIN-1 2131SS1[O

R )
Ot Lg|No

(g'gesse
ZLW noog

(g'gesse|)
DZW noIa3

(g'gesse|))
ZEX9 LI noiog

TOFAD b0 ML IN0OA 80 12 OF bXG}
223 nod g-giasseloia L noiog

=)
wﬂ

(ggesse|n)
0BXZ | DOY 1 uonog

H
0
H
0

EEEEER |
QbXgL DO¥l uojnog

(ggesse|d)
QbLx91 D94 | Uonog

ue “ - HSYIN 8ET1L 25SI193
qg uelg _Hmmrlﬁ 1] F
b | (aau31ua pwanxa nod)
ag ue|d \@ I _|4 HSWIN 8L Jnod
; 1X38LWLZITL 55193
eg ue|d ¢||_1 M % = Mg HSYW 2911 @513
uejd np oN I ELRE uoneubiseq

11




€ 3HNOId

L 3HN9OI4

12



F 34N914

El=[ADIE

13



9 H4NOId

El=[RiD]E!

14



dNno

52y

/. FHNOI

15



Parts drawing T-MASH18 4MS2

L/l - in=a4 Ww © suoisuawig
v hew g ney
TS| L TIOZLLGD DL AR | = - Ied 3pIEeA
[wnjop, ‘assep
n}io}

‘ﬂ - U uBwnaog CICl=1 .
Wy 8LNLENOA 05 F NT 00D o0 e
boyusimegnd aydu now yr 5E7 5 Jaity
bd :.edsussaq ZL0ZI60/0L - 51pq - alanep

Ll n
" ebenblew

~

\——1—/

/ ap aoe4

ol

S

05

pneys g uonjesiueAjeb jueAe suoisuswiq|

uoneziueajeb joy aiojeq suoisuawig

o O

O_\_\ B 00l uml.
/L3DIN JUBWINDOP UO|3S
" s2uU0)0p omm:EmEMV
Y TIVL30 |
AT
un ____ 1 IJ// | \\l. —
il (f | i o
= \ F |
R/ CHOTELLCH
T -~~~ ~_

16



L/l D a|na4 W @ suoisuswIg

Lozinso - § AR lzLgl D ETAR

EINZROTI - 7 hay VI0ZIZO - | naw =, led gpiep|

awnjop| -SSSE : :
nyis) — ]
‘ﬂ : U uBWnaog Bley3| _..|.|..||1.L
(UE /"0 3P BLNL INaliEd BLIED = INSEDs, 5y
a5

- red auissag

SLOZIEDMT - a1eq

0Ll

o 1

- 220en (.,m_ \i._,_
v V130 " i
¢.N ugeld ¢ m_dy 0t
021
c 0L} 071
0L = M S—
EE\a _aoE 2 0Z1
= 0EL
o s 5 /
= = = 089 A
urw\x 4D
085 I1dNIS NO¥L

AnNajueds-ayoded

Inayedsg

17



[ - 9iina4 Wi © SUcIsusWIg
S Aed IE A

Z ey ihe| = “1ed SpiEn|

“aunjop, assep

niis}
Aﬂ - Ujuswnaog ===

Sluow-sd JuslWBE-AR m——.—.__..._._o_ﬁm_.__n_w&ﬁ_ 48y
CHOZ/B0/0L

a1eq - 5208

v ueld

0041 : 1ed suissag

(g0 855€]0) OF¥0) JOHL suonog g

o uejd f
W gHALL Jnod
0ZHE U FXOGXSY N Jod
a ueld
Wit B LIALL Jnod W us upuoy ———

(8'G 2550|3) SN0 ISAE
091x9E DOY1 suonog ¢

(g9 @sSL10) O¥¥9) DYWL SUOINOF

18




L/ - 3[In=a4 ww : suoisuswig
- T Ehe

1T A D) AsY = Iled apiep|

BWNjop -assep

- UUBLNI0g Arya| @W\

ZSWF BLNL Jnod S2WED Snag 0768 US FR0EYGE N 24

uoneubisaq

HE

o

uogesiuenES Side aiou ur 5SE S SOV

uoneziueAleb joy aiojaq suoisuswiqg

ov4o Caed auIssa] C L0001 - 31e(] - asanep
ey ueid /
_ )
il |
|
4 T = H\C\ _
¥ H | oo . ! __
\ / L I
S 0 /a0
| = Py
F 5 /
/ \ ¥
;/ o ) \.\\- - J/.//
H\ / \\M rJl/ \ 00l
_ = =28 | @/ ! o 09 ]
7 al N \ \ g 0
T )
= SN N SR =
. \
. \
Ok n, .
0Ze 00gl
0Zet

19



Vv 11v.L13d

lJl Z=lnad W SUoISUsWIg
T e 1g Ay
R 1) ney “led Spiep
awnjo| ‘assep
nliol - U uBwnaog ETENRE|
‘ P
\\4 JREN
W7 BUWL 08 Wy N NIONBY < 0npuBisaq 3oy
th - 1ed auissa( TR - e siog - alsnep

dv ueld

g 11v.13d

-

f..

20



21

L/ s3ina4 W suolsuswg
TFASH | ozoZOeL  CE AR
0Z0Z/L0/60 - T A8 0Z0Z/L0/B0 © | ASY g9 -ledapiep m m C m
Bwinjop, ‘assepy — l
© U uswnoog 2lReYr3|
HSVW 2911 ‘uoneubisag HEE ]
HP GGES 180y
318 - ued auissaQ BLOZ/ELIOL - aleQ T alsnep
GSES 907 05 50+ 001 90+ 09 EX
19 %08 ¥ 05l +01d _ _
_
_ - - -
_ - - —,..Mu.v ..mu.._ .ﬂu.v rnl..m,
| - 3 3 4 "
_ U fn Fn b -
! =8 '50% 0 1= o
._/
SN\ eel 5 05 £6l
T S s
7 .\lw
L]
. H
L 07
0¢
0
o B
(¥
A S
__
_ \
=9
___
___ 74 —
| . ». 05l
__
Bita
'029=18 X 05 X 00l N




L/l s 3|ina4 W © suoisuawig
Iy Ay 0Z0Z/LOI3L €AY
0Z0Z/L0/B0 - T Ay 0Z0T/L0/B0  : | AN [T79 - Jed aplep|
G ue|d
LU juswnoog B3| =
HSVIN BE1L :uoneubisag BEE
P GSES 1By
318 :Jed suissag SHZRMLL - g1eq - alanep
cce e
05119 % 05 % 00) 191 el
> e 50+ 0% 58
[
05
4 R e
L - &
i i
AN ¥
G- I= 8l
£8 e 05l £8
5S¢l
-8
\
Y I o (S
24
\
_._, —
__.
\ _
Zy
\ — NG
,,r 55ES sk
‘00518 %09% 00LN

22



L/l - 2lina4 W SUDISUBLIQ

T oneH DE AR

T Aay 1 A3Y «, - ledapiep

DLUNjoA, JDSSEW
mJa) — A
A\ : U juswnaog Blrya3  —

W Glidl ¥N0d 330003 WZTI1L ‘uoneuBisag HEH

ZL0Z/60/0L poyusoAnd g J0U ¥ S5E 5 JRIy

bd :edaussag - a1 : alanep

os U

eld

J\l'

T

b it 4

/ aBenbiew
'~ 3p ade4

/!

uoneziueajeb joy aiojeq suoisuswiig

EAN

3J0pNoS

L3DIN JUSWNO0op Uuojas

23uojep mmm:v._ms_%

T

pneyo e uonesiueAjeb jueAe suoisuallig|

23



